# $E P$ matrix and the solution of matrix equation 

Xinran Wang ${ }^{\text {a }}$, Junchao Wei ${ }^{\text {a,* }}$<br>${ }^{a}$ School of Mathematical Sciences, Yangzhou University, Yangzhou, Jiangsu 225002, P. R. China


#### Abstract

This paper mainly introduces some equivalent conditions for SEP matrix, specifically by constructing some specific matrix equations and discussing whether these matrix equations have solutions in given set to determine whether a group invertible matrix is a SEP matrix.


## 1. Introduction

Throughout this paper, $\mathbb{C}^{n \times n}$ stands for the set of all $n \times n$ complex matrices. Let $A \in \mathbb{C}^{n \times n}$. Denotes the conjugate transpose matrix of $A$ by $A^{H} . A$ is called a group invertible matrix if there exists $X \in \mathbb{C}^{n \times n}$ such that

$$
A X A=A, X A X=X, A X=X A
$$

If such $X$ exists, then it is unique, denoted by $A^{\#}$, and is called the group inverse of $A$ [3].
$A$ is said to be Moore - Penrose invertible if there exists $X \in \mathbb{C}^{n \times n}$ such that

$$
A X A=A, X A X=X,(A X)^{H}=A X,(X A)^{H}=X A
$$

Such $X$ always exists uniquely by $[1,2]$, denoted by $A^{+}$, and is called the Moore - Penrose inverse of $A$.
Let $A \in \mathbb{C}^{n \times n}$ is a group invertible matrix. We write

$$
\chi_{A}=\left\{A, A^{\#}, A^{+}, A^{H},\left(A^{\#}\right)^{H},\left(A^{+}\right)^{H}\right\} .
$$

$A$ is called partial isometry (or $P I$ ) if $A=A A^{H} A$. Clearly $A$ is $P I$ if and only if $A^{+}=A^{H} ; A$ is called $E P$ [8] if $A^{\#}$ exists and $A^{\#}=A^{+} ; A$ is called SEP if $A^{\#}$ exists and $A^{\#}=A^{+}=A^{H}$. Evidently, $A$ is SEP if and only if $A$ is $E P$ and $P I$. In a ring with involution, $S E P$ elements have been studied in $[4,6,9-11]$, and in matrix theory, by [7].

In this paper, we continue to study $S E P$ matrices. In Section 2, we discuss some properties of $S E P$ matrices. In Section 3, we research the relationship between the consistency of matrix equations and SEP matrices. In Section 4, with the help of group invertible matrices and $E P$ matrices, we discuss the form of the general solution to certain equation.

[^0]
## 2. Some properties of SEP matrices

Lemma 2.1. Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then $A$ is a SEP matrix if and only if $A^{H} A^{H} A=A A^{\#} A^{H} A A^{\#}$.
Proof. $(\Longrightarrow)$ Assume that $A$ is $S E P$. Then $A^{\#}=A^{+}=A^{H}$, this gives

$$
A A^{\#} A^{H} A A^{\#}=A A^{\#} A^{\#} A A^{\#}=A^{\#}=A^{\#} A^{\#} A=A^{H} A^{H} A
$$

$(\Longleftarrow)$ If $A^{H} A^{H} A=A A^{\#} A^{H} A A^{\#}$, then

$$
A A^{+} A^{H} A^{H} A=A A^{+}\left(A A^{\#} A^{H} A A^{\#}\right)=A A^{\#} A^{H} A A^{\#}=A^{H} A^{H} A .
$$

Post-multiplying the equality by $A^{+}\left(A^{\#}\right)^{H}\left(A^{\#}\right)^{H} A^{+}$, one has $A A^{+} A^{+}=A^{+}$. Hence, $A$ is $E P$, it follows $A^{H} A^{H} A=A A^{\#} A^{H} A A^{\#}=A^{\#} A A^{H} A A^{\#}=A^{+} A A^{H} A A^{+}=A^{H}$, this gives $A=A^{H} A^{2}$. Hence, $A$ is $S E P$ by [6, Theorem 1.5.3].

Theorem 2.2. Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then

1) $A^{H} A^{H} A$ is an EP matrix with $\left(A^{H} A^{H} A\right)^{+}=A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}$.
2) $\left(A A^{\#} A^{H} A A^{\#}\right)^{+}=A^{+} A\left(A^{+}\right)^{H} A A^{+}$.
3) $A A^{\#} A^{H} A A^{\#}$ is a group invertible matrix with $\left(A A^{\#} A^{H} A A^{\#}\right)^{\#}=\left(A^{+}\right)^{H}$.

Proof. 1) Since

$$
\begin{gathered}
\left(A^{H} A^{H} A\right)\left(A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}\right)=A^{H} A^{H}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}=A^{H}\left(A^{+}\right)^{H}=A^{+} A, \\
\left(A^{H} A^{H} A\right)\left(A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}\right)\left(A^{H} A^{H} A\right)=A^{+} A\left(A^{H} A^{H} A\right)=A^{H} A^{H} A
\end{gathered}
$$

and we have

$$
\left(\left(A^{H} A^{H} A\right)\left(A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}\right)\right)^{H}=\left(A^{+} A\right)^{H}=A^{+} A=\left(A^{H} A^{H} A\right)\left(A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}\right)
$$

Since we get

$$
\begin{gathered}
\left(A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}\right)\left(A^{H} A^{H} A\right)=A^{+}\left(\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H} A^{H}\right) A^{H} A=A^{+}\left(A^{\#}\right)^{H} A^{H} A=A^{+} A, \\
\left(A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}\right)\left(A^{H} A^{H} A\right)\left(A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}\right)=A^{+} A\left(A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}\right)=A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}
\end{gathered}
$$

and

$$
\left(\left(A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}\right)\left(A^{H} A^{H} A\right)\right)^{H}=\left(A^{+} A\right)^{H}=\left(A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}\right)\left(A^{H} A^{H} A\right) .
$$

Hence, $\left(A^{H} A^{H} A\right)^{+}=A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}$.
Noting that $\left(A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}\right)\left(A^{H} A^{H} A\right)=\left(A^{H} A^{H} A\right)\left(A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}\right)$.
Then $\left(A^{H} A^{H} A\right)^{\#}=A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}=\left(A^{H} A^{H} A\right)^{+}$.
Therefore $A^{H} A^{H} A$ is EP.
2) and 3) can be shown similarly.

Corollary 2.3. Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then

1) $A$ is an EP matrix if and only if $\left(A^{H} A^{H} A\right)^{+}=A^{+}\left(A^{+}\right)^{H}\left(A^{\#}\right)^{H}$.
2) $A$ is an EP matrix if and only if $A A^{\#} A^{H} A A^{\#}$ is an EP matrix.
3) $A$ is a SEP matrix if and only if $A A^{\#} A^{H} A A^{\#}$ is a SEP matrix.

Proof. 1) $(\Longrightarrow)$ If $A$ is EP, then $\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}=\left(A^{\#}\right)^{H}\left(A^{\#}\right)^{H}=\left(A^{+}\right)^{H}\left(A^{\#}\right)^{H}$.
By Theorem 2.2, we have $\left(A^{H} A^{H} A\right)^{+}=A^{+}\left(A^{+}\right)^{H}\left(A^{\#}\right)^{H}$.
$(\Longleftarrow)$ If $\left(A^{H} A^{H} A\right)^{+}=A^{+}\left(A^{+}\right)^{H}\left(A^{\#}\right)^{H}$, then, by Theorem 2.2 , we have

$$
A^{+}\left(A^{\#}\right)^{H}\left(A^{+}\right)^{H}=A^{+}\left(A^{+}\right)^{H}\left(A^{\#}\right)^{H} .
$$

Pre-multiplying the last equality by $A^{H} A^{H} A$, one has $A^{+} A=\left(A A^{\#}\right)^{H}$. Hence, $A$ is $E P$. $2)(\Longrightarrow)$ Assume that $A$ is $E P$. Then $A A^{+}=A^{+} A$, it follows from Theorem 2.2 that

$$
\left(A A^{\#} A^{H} A A^{\#}\right)^{+}=A^{+} A\left(A^{+}\right)^{H} A A^{+}=A A^{+}\left(A^{+}\right)^{H} A^{+} A=\left(A^{+}\right)^{H}=\left(A A^{\#} A^{H} A A^{\#}\right)^{\#} .
$$

Hence, $A A^{\#} A^{H} A A^{\#}$ is $E P$.
$(\Longleftarrow)$ If $A A^{\#} A^{H} A A^{\#}$ is $E P$, then $\left(A A^{\#} A^{H} A A^{\#}\right)^{+}=\left(A A^{\#} A^{H} A A^{\#}\right)^{\#}$.
By Theorem 2.2, one has

$$
A^{+} A\left(A^{+}\right)^{H} A A^{+}=\left(A^{+}\right)^{H}
$$

Multiplying the equality on the left by $A A^{\#}$, one has

$$
\left(A^{+}\right)^{H}=\left(A^{+}\right)^{H} A A^{+} .
$$

Applying the involution on the equality, one has $A^{+}=A A^{+} A^{+}$. Hence, $A$ is $E P$.
$3)(\Longrightarrow)$ If $A$ is a $S E P$ matrix, then $A A^{\#} A^{H} A A^{\#}$ is an $E P$ matrix by 2 ), and by Lemma 2.1 , we have

$$
\left(A A^{\#} A^{H} A A^{\#}\right)^{H}=\left(A^{H} A^{H} A\right)^{H}=A^{H} A^{2}=A=\left(A^{+}\right)^{H}=\left(A A^{\#} A^{H} A A^{\#}\right)^{\#}=\left(A A^{\#} A^{H} A A^{\#}\right)^{+} .
$$

Hence $A A^{\#} A^{H} A A^{\#}$ is SEP.
$(\Longleftarrow)$ If $A A^{\#} A^{H} A A^{\#}$ is a $S E P$ matrix, then $A$ is an $E P$ matrix by 2$)$ and $\left(A A^{\#} A^{H} A A^{\#}\right)^{\#}=\left(A A^{\#} A^{H} A A^{\#}\right)^{H}$. By Theorem 2.2, one obtains

$$
\left(A^{+}\right)^{H}=\left(A A^{\#} A^{H} A A^{\#}\right)^{H} .
$$

Hence, $A^{+}=A A^{\#} A^{H} A A^{\#}$. Noting that $A$ is $E P$. Then $A A^{\#} A^{H} A A^{\#}=A^{H}$, so $A^{+}=A^{H}$. Thus $A$ is SEP.
Theorem 2.4. Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then $A$ is a SEP matrix if and only if $A^{H} A^{H} A=$ $A A^{\#} A^{H} A^{+} A$.

Proof. $(\Longrightarrow)$ Assume that $A$ is SEP. Then $A^{+} A=A A^{+}=A A^{\#}$ and $A^{H} A^{H} A=A A^{\#} A^{H} A A^{\#}$ by Lemma 2.1. Hence $A^{H} A^{H} A=A A^{\#} A^{H} A^{+} A$.
$(\Longleftarrow)$ If $A^{H} A^{H} A=A A^{\#} A^{H} A^{+} A$, then

$$
A A^{\#} A^{H} A^{+} A=A^{H} A^{H} A=A^{+} A A^{H} A^{H} A=A^{+} A\left(A A^{\#} A^{H} A^{+} A\right)=A^{H} A^{+} A .
$$

Post-multiplying the last equality by $\left(A A^{\#}\right)^{H}$, one gets $A A^{\#} A^{H}=A^{H}$, this infers $A$ is $E P$ by [6, Theorem 1.2.1]. Hence $A^{H} A^{H} A=A A^{\#} A^{H} A^{+} A=A A^{\#} A^{H} A A^{\#}$, by Lemma 2.1, $A$ is $S E P$.

## 3. Compatibility of matrix equation

Observing the equality appeared in Theorem 2.4, we can construct the following equation:

$$
\begin{equation*}
A^{H} X A=A A^{\#} X A^{+} A \tag{1}
\end{equation*}
$$

In [6, Theorem 1.5.3], it is shown that a matrix $A$ is $S E P$ if and only if $A^{H} A^{+}=A^{\#} A^{+}$. Inspired by this, we can give the following theorem.

Theorem 3.1. Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then $A$ is a SEP matrix if and only if Eq.(3.1) has at least one solution in $\chi_{A}=\left\{A, A^{\#}, A^{+}, A^{H},\left(A^{\#}\right)^{H},\left(A^{+}\right)^{H}\right\}$.

Proof. $\Rightarrow$ Assume that $A$ is SEP. Then $A^{\#}=A^{+}=A^{H}$. It follows $A^{H} A^{2}=A^{\#} A^{2}=A=A A^{\#} A A^{\#} A=A A^{\#} A A^{+} A$. Hence, $X=A$ is a solution.
$\Leftarrow 1)$ If $X=A$, then $A^{H} A^{2}=A A^{\#} A A^{+} A=A$. Hence, $A$ is SEP by [6, Theorem 1.5.3].
2) If $X=A^{\#}$, then $A^{H} A^{\#} A=A A^{\#} A^{\#} A^{+} A=A^{\#}$. It follows that $A=A^{\#} A^{2}=A^{H} A^{\#} A A^{2}=A^{H} A^{2}$. Hence, $A$ is SEP by [6, Theorem 1.5.3].
3) If $X=A^{+}$, then $A^{H} A^{+} A=A A^{\#} A^{+} A^{+} A$. Pre-multiplying the equality by $E_{n}-A A^{+}$, one gets

$$
\left(E_{n}-A A^{+}\right) A^{H} A^{+} A=0
$$

Post-multiplying the last equality by $\left(A^{+} A^{\#} A\right)^{H} A^{+}$, one has $\left(E_{n}-A A^{+}\right) A^{+}=0$, this infers $A$ is EP. Hence, $X=A^{+}=A^{\#}$ is a solution, so $A$ is SEP by 2 ).
4) If $X=A^{H}$, then $A^{H} A^{H} A=A A^{\#} A^{H} A^{+} A$. Hence, $A$ is SEP by Theorem 2.4.
5) If $X=\left(A^{+}\right)^{H}$, then $A^{H}\left(A^{+}\right)^{H} A=A A^{\#}\left(A^{+}\right)^{H} A^{+} A$, e.g. $A^{+} A^{2}=\left(A^{+}\right)^{H}$. This gives

$$
\left(A^{+}\right)^{H}=A A^{\#}\left(A^{+}\right)^{H}=A A^{\#} A^{+} A^{2}=A
$$

and so $A=\left(A^{+}\right)^{H}=A^{+} A^{2}$. Hence, $A$ is $S E P$.
6) If $X=\left(A^{\#}\right)^{H}$, then $A^{H}\left(A^{\#}\right)^{H} A=A A^{\#}\left(A^{\#}\right)^{H} A^{+} A$. Pre-multiplying the equality by $E_{n}-A A^{+}$, one yields $\left(E_{n}-A A^{+}\right) A^{H}\left(A^{\#}\right)^{H} A=0$. Post-multiplying the last equality by $A^{+} A^{+}$, one obtains $\left(E_{n}-A A^{+}\right) A^{+}=0$. Hence, $A$ is $E P$. It follows that $X=\left(A^{\#}\right)^{H}=\left(A^{+}\right)^{H}$ is a solution. Thus $A$ is SEP by 5).

The proof of Theorem 3.1 implies the following corollary.
Corollary 3.2. Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then $A$ is SEP if and only if $\left(A^{+}\right)^{H}=A^{+} A^{2}$.
Now we can change Eq.(3.1) as follows

$$
\begin{equation*}
A^{H} X Y=A A^{\#} X A^{+} Y \tag{2}
\end{equation*}
$$

Lemma 3.3. [11, Corollary 2.10] Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then the followings are equivalent:

1) $A$ is a PI matrix;
2) $A^{H} A^{+}=A^{H} A^{H}$;
3) $A^{H} A^{+}=A^{+} A^{+}$.

Theorem 3.4. Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then $A$ is a SEP matrix if and only if Eq.(3.2) has at least one solution in $\chi_{A}^{2}=\left\{(x, y) \mid x, y \in \chi_{A}\right\}$.
Proof. " $\Rightarrow$ " Assume that $A$ is $\operatorname{SEP}$. Then $(X, Y)=(A, A)$ is a solution.
$" \Leftarrow "$ I) If $Y=A$, then we have the following equation

$$
\begin{equation*}
A^{H} X A=A A^{\#} X A^{+} A . \tag{3}
\end{equation*}
$$

By Theorem 3.1, $A$ is $S E P$;
II) If $Y=A^{\#}$, then we have the following equation

$$
\begin{equation*}
A^{H} X A^{\#}=A A^{\#} X A^{+} A^{\#} \tag{4}
\end{equation*}
$$

Post-multiplying Eq.(3.4) by $A^{2}$, we obtain Eq.(3.1). Hence, $A$ is SEP by Theorem 3.1;
III) If $Y=A^{+}$, then we have the following equation

$$
\begin{equation*}
A^{H} X A^{+}=A A^{\#} X A^{+} A^{+} \tag{5}
\end{equation*}
$$

1) If $X=A$, then $A^{H} A A^{+}=A A^{\#} A A^{+} A^{+}$, e.g. $A^{H}=A A^{+} A^{+}$. Pre-multiplying the equality by $\left(A A^{\#}\right)^{H}$, one obtains $A^{H}=A^{+}$, it follows that $A^{+}=A^{H}=A A^{+} A^{+}$. Thus $A$ is $E P$ and so $A$ is $S E P$;
2) If $X=A^{\#}$, then $A^{H} A^{\#} A^{+}=A A^{\#} A^{\#} A^{+} A^{+}=A^{\#} A^{+} A^{+}$, this gives

$$
\left(E_{n}-A^{+} A\right) A^{\#} A^{+} A^{+}=\left(E_{n}-A^{+} A\right) A^{H} A^{\#} A^{+}=0
$$

Post-multiplying the last equality by $A\left(A A^{\#}\right)^{H} A^{3}$, one obtains $\left(E_{n}-A^{+} A\right) A=0$, this infers $A$ is $E P$. Hence, $Y=A^{+}=A^{\#}$, it follows from II) that $A$ is SEP;
3) If $X=A^{+}$, then $A^{H} A^{+} A^{+}=A A^{\#} A^{+} A^{+} A^{+}$. By [11, Lemma 2.11], we have $A^{H} A^{+}=A A^{\#} A^{+} A^{+}$, that is, $A^{H} A A^{+} A^{+}=A A^{\#} A^{+} A^{+}$. Again by [11, Lemma 2.11], we gets $A^{H}=A A^{\#} A^{+}$, and $A^{H} A^{2}=A A^{\#} A^{+} A^{2}=A$. Hence, $A$ is $S E P$ by [6, Theorem 1.5.3];
4) If $X=A^{H}$, then $A^{H} A^{H} A^{+}=A A^{\#} A^{H} A^{+} A^{+}$. Post-multiplying the equality by $A\left(A A^{\#}\right)^{H}$, one has

$$
A^{H} A^{H}=A A^{\#} A^{H} A^{+}
$$

this gives

$$
\left(E_{n}-A A^{+}\right) A^{H} A^{H}=\left(E_{n}-A A^{+}\right) A A^{\#} A^{H} A^{+}=0
$$

Post-mutiplying the last equality by $\left(A^{\#} A^{\#}\right)^{H} A^{+}$, one gets $\left(E_{n}-A A^{+}\right) A^{+}=0$, this implies $A$ is $E P$. Hence, $A^{H} A^{H}=A A^{\#} A^{H} A^{+}=A^{\#} A A^{H} A^{+}=A^{+} A A^{H} A^{+}=A^{H} A^{+}$, this implies $A$ is PI by Lemma 3.3. Thus $A$ is $S E P$;
5) If $X=\left(A^{+}\right)^{H}$, then $A^{H}\left(A^{+}\right)^{H} A^{+}=A A^{\#}\left(A^{+}\right)^{H} A^{+} A^{+}$, e.g. $A^{+}=\left(A^{+}\right)^{H} A^{+} A^{+}$. This gives $A^{H} A^{+}=A^{H}\left(A^{+}\right)^{H} A^{+} A^{+}=$ $A^{+} A^{+}$, so $A$ is $P I$ by Lemma 3.3. Noting that $A^{+}=\left(A^{+}\right)^{H} A^{+} A^{+}=A A^{+} A^{+}$. Then $A$ is $E P$ and so $A$ is $S E P$;
6) If $X=\left(A^{\#}\right)^{H}$, then $A^{H}\left(A^{\#}\right)^{H} A^{+}=A A^{\#}\left(A^{\#}\right)^{H} A^{+} A^{+}$, e.g. $A^{+}=A A^{\#}\left(A^{\#}\right)^{H} A^{+} A^{+}$. Pre-multiplying the equality by $E_{n}-A A^{+}$, one yields

$$
A^{+}=A A^{+} A^{+}
$$

Hence $A$ is $E P$, it follows that $x=\left(A^{\#}\right)^{H}=\left(A^{+}\right)^{H}$. Thus $A$ is SEP by 5$)$.
IV) If $Y=A^{H}$, then we have the following equation

$$
\begin{equation*}
A^{H} X A^{H}=A A^{\#} X A^{+} A^{H} \tag{6}
\end{equation*}
$$

Post-mutiplying Eq.(3.6) by $\left(A^{\#}\right)^{H} A^{+}$, one gets Eq.(3.5). Hence, $A$ is $S E P$ by III);
V) If $Y=\left(A^{+}\right)^{H}$, then we have the following equation

$$
\begin{equation*}
A^{H} X\left(A^{+}\right)^{H}=A A^{\#} X A^{+}\left(A^{+}\right)^{H} \tag{7}
\end{equation*}
$$

Post-mutiplying Eq.(3.7) by $A^{H} A$, we get Eq.(3.3). Hence, $A$ is $S E P$ by I);
VI) If $Y=\left(A^{\#}\right)^{H}$, then we have the following equation

$$
\begin{equation*}
A^{H} X\left(A^{\#}\right)^{H}=A A^{\#} X A^{+}\left(A^{\#}\right)^{H} . \tag{8}
\end{equation*}
$$

Post-mutiplying the Eq.(3.8) by $A^{H} A^{H}$, we obtain Eq.(3.6) Hence, $A$ is $S E P$ by IV).
Corollary 3.5. Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then the followings are equivalent:

1) $A$ is a SEP matrix;
2) $A^{+}=\left(A^{+}\right)^{H} A^{+} A^{+}$;
3) $A^{+}=A^{+} A^{+}\left(A^{+}\right)^{H}$.

Now we changes Eq.(3.1) as follows

$$
\begin{equation*}
A^{H} X A=A A^{\#} X A^{\#} A \tag{9}
\end{equation*}
$$

Similar to Theorem 3.1, we can give the following theorem.
Theorem 3.6. Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then $A$ is a SEP matrix if and only if Eq.(3.9) has at least one solution in $\chi_{A}$.

The following lemma is interesting which proof is routine.

Lemma 3.7. Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then
(1) $A^{H} X A$ is a EP matrix with $\left(A^{H} X A\right)^{+}=\left(A^{H} X A\right)^{\#}=A^{+} X^{\#}\left(A^{+}\right)^{H}$ for each $X \in \chi_{A}$;
(2) $\left(A A^{\#} X A A^{\#}\right)^{+}=A^{+} A X^{+} A A^{+}$for each $X \in \chi_{A}$;
(3) $A A^{\#} X A A^{\#}$ is a group invertible matrix with $\left(A A^{\#} X A A^{\#}\right)^{\#}=A A^{\#} X^{+} A A^{\#}$ for each $X \in \chi_{A}$.

Theorem 3.6 and Lemma 3.7 imply the following theorem.
Theorem 3.8. Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then the followings are equivalent:
(1) $A$ is a SEP matrix;
(2) $A^{+} X^{\#}\left(A^{+}\right)^{H}=A^{+} A X^{+} A A^{+}$for each $X \in \chi_{A}$;
(3) $A^{+} X^{\#}\left(A^{+}\right)^{H}=A A^{\#} X^{+} A A^{\#}$ for each $X \in \chi_{A}$.

## 4. The general solution of related equations

We now generalize Eq.(3.1) as follows.

$$
\begin{equation*}
A^{H} X A=A A^{\#} Y A^{+} A . \tag{10}
\end{equation*}
$$

Theorem 4.1. Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then the general solution of Eq.(4.1) is given by

$$
\left\{\begin{array}{c}
X=\left(A^{+}\right)^{H} A^{+} P+U-A A^{+} U A A^{+}  \tag{11}\\
Y=A^{+} P A+V-A^{+} A V A^{+} A, \text { where } P, U, V \in \mathbb{C}^{n \times n} \text { with } A^{+} P=A A^{+} A^{+} P .
\end{array}\right.
$$

Proof. Frist, we have the formula (4.2) is the solution of Eq.(4.1).
In fact,

$$
\begin{gathered}
\left.A^{H}\left(\left(A^{+}\right)^{H}\right) A^{+} P+U-A A^{+} U A A^{+}\right) A=A^{+} P A=A A^{+} A^{+} P A=A A^{\#} A A^{+} A^{+} P A \\
=A A^{\#} A^{+} P A=A A^{\#}\left(A^{+} P A+V-A^{+} A V A^{+} A\right) A^{+} A .
\end{gathered}
$$

Next, let

$$
\left\{\begin{array}{l}
X=X_{0}  \tag{12}\\
Y=Y_{0}
\end{array}\right.
$$

be a solution of Eq.(4.1). Then

$$
A^{H} X_{0} A=A A^{\#} Y_{0} A^{+} A
$$

Choose $P=A Y_{0} A^{+}, U=X_{0}, V=Y_{0}$. Then

$$
\begin{gathered}
A^{+} P=A^{+} A Y_{0} A^{+}=\left(A^{+} A\right)\left(A A^{\#} Y_{0} A^{+} A\right) A^{+}=A^{+} A\left(A^{H} X_{0} A\right) A^{+}=A^{H} X_{0} A A^{+} \\
=A A^{\#} Y_{0} A^{+} A A^{+}=A A^{\#} Y_{0} A^{+} .
\end{gathered}
$$

So

$$
A A^{+} A^{+} P=A A^{+}\left(A A^{\#} Y_{0} A^{+}\right)=A A^{\#} Y_{0} A^{+}
$$

Hence, $A^{+} P=A A^{+} A^{+} P$.
Noting that

$$
\begin{gathered}
\left(A^{+}\right)^{H} A^{+} P=\left(A^{+}\right)^{H} A A^{\#} Y_{0} A^{+}=\left(A^{+}\right)^{H}\left(A A^{\#} Y_{0} A^{+} A\right) A^{+} \\
=\left(A^{+}\right)^{H} A^{H} X_{0} A A^{+}=A A^{+} X_{0} A A^{+} .
\end{gathered}
$$

Then

$$
X_{0}=A A^{+} X_{0} A A^{+}+X_{0}-A A^{+} X_{0} A A^{+}=\left(A^{+}\right)^{H} A^{+} P+U-A A^{+} U A A^{+} .
$$

Also

$$
A^{+} A Y_{0} A^{+} A=A^{+}\left(A Y_{0} A^{+}\right) A=A^{+} P A
$$

it follows that

$$
Y_{0}=A^{+} A Y_{0} A^{+} A+Y_{0}-A^{+} A Y_{0} A^{+} A=A^{+} P A+V-A^{+} A V A^{+} A
$$

Hence, the general solution of Eq.(4.1) is given by the formula (4.2).

Theorem 4.2. Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then $A$ is a SEP matrix if and only if the general solution of Eq.(4.1) is given by

$$
\left\{\begin{array}{l}
X=\left(A^{+}\right)^{H} A^{+} P+U-A A^{+} U A A^{+}  \tag{13}\\
Y=A^{\#} P\left(A^{+}\right)^{H}+V-A^{+} A V A^{+} A
\end{array} \text {, where } P, U, V \in \mathbb{C}^{n \times n} .\right.
$$

Proof. $\Rightarrow$ If $A$ is SEP, then $A^{+}=A^{\#}$ and $A=\left(A^{+}\right)^{H}$. And $A A^{+} A^{+} P=A^{+} P$ for all $P \in \mathbb{C}^{n \times n}$.
Hence, the formula (4.2) is same as the formula (4.4), it follows from Theorem 4.1 that the general solution of Eq.(4.1) is given by the formula (4.4).
$\Leftarrow$ If the general solution of Eq.(4.1) is given by the formula (4.4), then

$$
A^{H}\left(\left(A^{+}\right)^{H} A^{+} P+U-A A^{+} U A A^{+}\right) A=A A^{\#}\left(A^{\#} P\left(A^{+}\right)^{H}+V-A^{+} A V A^{+} A\right) A^{+} A
$$

By simple computation, we have

$$
A^{+} P A=A^{\#} P\left(A^{+}\right)^{H} .
$$

Choose $P=A$. Then $A^{+} A^{2}=A^{\#} A\left(A^{+}\right)^{H}=\left(A^{+}\right)^{H}$. Hence $A$ is $S E P$ by Corollary 3.2.

Now we construct the following equation.

$$
\begin{equation*}
A\left(A A^{\#}\right)^{H} A A^{H} X A A^{+}=A^{2} Y A^{H} \tag{14}
\end{equation*}
$$

Similar to Theorem 4.1, we have the following theorem.
Theorem 4.3. Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then the general solution of Eq.(4.5) is given by

$$
\left\{\begin{array}{l}
X=\left(A^{+}\right)^{H} A^{+} P+U-A A^{+} U A A^{+}  \tag{15}\\
Y=A^{\#} P\left(A^{+}\right)^{H}+V-A^{+} A V A^{+} A
\end{array} \text {, where } P, U, V \in \mathbb{C}^{n \times n} \text { with } A^{+} P=A^{+} A^{+} A P .\right.
$$

Combining Theorem 4.2 with Theorem 4.3, we have the following theorem.
Theorem 4.4. Let $A \in \mathbb{C}^{n \times n}$ be a group invertible matrix. Then $A$ is a SEP matrix if and only Eq.(4.5) has the same solution as Eq.(4.1).

## References

[1] E. Boasso, On the Moore-Penrose inverse in C*-algebras, Extracta Mathematicae, 21(2) (2006), 93-106.
[2] O. M. Baksalary, G. Trenkler, Characterizations of EP, normal and Hermitian matrices, Linear Multilinear Algebra, 56 (2006), 299-304
[3] R. Bru, N. Thome, Group inverse and group involutory matrices, Linear Multilinear Algebra, 45 (1998), 207-218.
[4] D. Mosić, D. S. Djordjević, Partial isometries and EP elements in rings with involution, Electron. J. Linear Algebra 18 (2009), 761-772.
[5] D. Mosić, D. S. Djordjević, J. J. Koliha, EP elements in rings, Linear Algebra Appl., 431 (2009), 527-535.
[6] D. Mosić, Generalized inverses, Faculty of Sciences and Mathematics, University of Niš, Nis̆,2018.
[7] Y. Sui, J. C. Wei, Some studies on generalized inverses of matrices, Bull. Allaha. Math. Soc., 35(2) (2020), 105-120.
[8] Y. Tian, H. Wang, Characterizations of EP matrices and weighted-EP matrices, Linear Algebra Appl., 434 (2011), 1295-1318.
[9] Z. C. Xu, R. J. Tang, J. C. Wei, Strongly EP elements in a ring with involution, Filomat, 34(6) (2020), 2101-2107.
[10] D. D. Zhao, J. C. Wei, Some new characterizations of partial isometry in rings with involution, Intern. Eletr. J Algebra, 30(2021), 304-311.
[11] D. D. Zhao, J. C. Wei, Strongly EP elements in rings with involution, J. Algebra Appl., (2022) 2250088 (10 pages), DOI: 10.1142/S0219498822500888.


[^0]:    2020 Mathematics Subject Classification. Primary 15A09; Secondary 16W10, 16 U80.
    Keywords. EP matrix; SEP matrix; group invertible matrix; Moore-Penrose inverse; solutions of equation.
    Received: 19 February 2023; Revised: 21 October 2023; Accepted: 29 October 2023
    Communicated by Dijana Mosić

    * Corresponding author: Junchao Wei

    Email address: 1092078512@qq.com (Junchao Wei)

